B &

53 BEINT R (REE)

PRI 3B s %

IRtz EERR Cm e ) | 80

) |
€ H 95.4 96.0 -
1K IR ot |5 o
2 = E 99.8 i
3T A 99.6
4 m x| 987 | B[ 920 -
5 4t i#F 8 98.4 s
5 1= if] 98.4 00 L ‘
; Eé E 33'3 2 T Ema 25 26 27 28 EE
" : —A—EER =

9 #F K 97.7 | BER 26 |

s
10 % ] 97.6 (#EHT—% ) %
12+ X 97.1 E E | RBE | 2 E| & F | BBE] 2 B
BERS 970 .| [SEpkea| o956 o041|Fpko6| 967 935
145 F 96.9 TRk25]  957] 931 ER27| 959 | 94l
14 55 £ 96.9 FERk28 97.6 954
16 W 3 96.7 . ]
168 E 96.7 B H Bz | #R3E FF 12 S
16 & ) 96.7 ES = 14
19 B W 96.5 1 |& = 8.3
20 F# 1l 964 | g 2 |& F 5.4
21 & AN 96.1 3 |EE &K 3.7
25 96.0 EHEINKHE
22 i# =) 96.0 (%)| 43 |A I 0.2
24 F & 959 | & 43 | K 53 0.2
24 i 5 95.9 3 E E 0.2
26 12 H# 95.7 43 | & % 0.2
27 W i 954 47 || 0.1
217k % 954 | .. B H B | #5538 FF IR RS
21 & B 95.4 H ES E 21.2
30/ N 95.2 11/ 27.1
31 1L | 95.1 2 |® H 26.5
3 B A 95.1 | |AMEBEGELE 2 iy 3 26.5
33 W #B 94.7 = (%) IS g 15.1
33 b 94.7 45 |2 R’ 15.0
35 # i 94.6 46 | a2 14.8
3B K W 94.3 47 |&| I 7.3
36 K v 94.3 AT TS ATARE AT IR R BT
38 % B 94.2 B S TRSERE
38 f& g 94.2 -AERY 54
0% = 934 |y | -HA®: BEERTL—BHEE
41 7 H 93.3 B —RRBHEE + B T A SRS + BB BB S i
42 0 W 92.5 -BE AR, TEXABROLSICERABEINTELT . BEEREN
38 m 92.4 [SIRATNBBHEDTE . AMER . BBE. MEEO LSS EEEEEMN
M4 = % 922 ISXHSNBREICH LSO EHHEE T, BBHEE DR AN
45 = 1% 893 | & ERTIEE, CORENBLBIZEMBIEENERILLTSY. 85K
46 B Tic) 87.3 BEOIMHBHILEND S,
47 ®| = 79.6 ) SEMEREETY,

-53-




